god

oooon

goaoo

oo

god

goaoo

500

gbooobad

oo

0000 (Elasto-Plasticity)

ao
gooo

OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OO
0oO
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod

gboobaood

OO

0oO

OO

0oO

OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod
OoOod

gbooboaooban

o O O | O O
O O O O O O O
] O O O O O O O -
O O O O O O O O O =3 O
O O o| ol o O O O O ) = e
M O ol ol o O O O O oo o |Eg
™ O O O O O O O O O oo o [E5
O O ol ol o O O O O O oo w B o
O O O ol ol o O O O O O OO o | Y
O O O ol ol o O O O O O oo o |oH
O O O ol ol o O O O O O == e
O o | o O ol ol o O O O O O oo N e
O o | o O O ol ol o O O O O O OO e =
ol o olo|l ol o O O ol ol o O O O O O O mlm ol H MD
Ol o ol|lol|l ol o O O ol ol o O O O O O O OO o5l o O
ol o ololol ol ol o O ol ol o O O O O O o |Yloo Dm o |E
Ol o oclololol ol o O ol ol o O O O O o |oo |B|loo = oH
m O o | o olol ol o O ol ol o O O O O o |oo |Bloo o ol =EBlEB
O oclololol ol o O ol ol o O O O O o |ooo|Bloo O Dw e
O ololol ol ol o O ol ol o O O O O o |ooo|Bloo m_DD o51Eg
oo |l o|lololol ol o O ol ol o O O O O o |ooo|Bloo ool2olBg
oo |l o|lololaol ol o O ol ol o O O oo | o o |ooo|Bloo Oloo |2
O o|loo
oo |l o|lololol ol o O ol ol o O O oo | o o |ooo|Bloo Oloo|E
O O
oo | o | o olol ol o O ol ol o O O oo | oo o |ooo|® oo |2 5E[8 oH
oo |l o|lololol ol o O ol ol o O oo | oo | oo | o |ooo ooo| Y ol 2H|[ o
olqoog| o
oo | o | o olol ol o O ol ol o o0 oo | oo | oo o |ooo oS |Eg-EBl<o|og
oo | ol o ol o]l ol o O o| ol o oo oo | oo | oo o |ooo oog|EgEE(aNeg
ol o|lolololol o O o|lo|loo|loo|oo|oo|oo|o|ooopjoog|P5EE =20
oo |l o|lo|lo|lol|l ol o O o|lo| oo| oo| oo| ool oo | o |ooo oog|l2gBE(oBles
oo | ol o ol ol ol o O o| ol oo | oo oo | oo | oo o |ooo oog| o i e =
oo |l o|lo|lo|lol|l ol o O o|lo| oo| oo| oo| ool oo | o |ooo e e e S = oH
ooo 0o obOg|gd =)=
oooO 0og ob0g mD 05
ool g|loog|oEEo(=Hlog
R B ooo|O|loo=- | gBP0a|Ug|o
O S B a ooo oo | gPoo m1 o
0 0 ] | ] ] ooo oo oool|=o|oP
-] -] ] ] ] ] ooo oo2|Boooloo|oH
O 0 o 0 ] | ] ] ] ooo oobH|Poool|oo|oo
O -] O -] ] ] ] ] ] O ooo ooo|Boooloo 0of
O 0 ] o 0 ] | ] ] ] o cooooo|Pooo|oo|o
O -] ] O -] ] ] ] ] ] ] O ooo ooo|BPoooloo| ol
O [ (| [ [ [ [ [ (| [ [ (| [ oOoO oOoO _H_DDD OO D_H_
g|loo|lolololololo]l o O O O O o |logoololooolooooloo| oB
oo |l olololaolaol ol o o | o O O O O O o looololaooloooolaol| ol
oo | o|lololololol ool ol o O O O O O O O O
oo | ololololololool ol o O O O O O O O
oo | o|lolololololool ol o O O O O O O O
O
o |U m| m|
O o |UY M O O M
O o |U - O o g
O o |UY - O ol g
O o |U - O o g
m O O O O O O o |2 = =
O O ololol ol ol o O ol g - ~ P < o =
O — N ™ <t n (o] N~ 0] (o] — — — — — —




